Sr Questions Answers Choice
1 The formula for the Fibonacci sequence is
A -2
= = B. -1
2 If g (x) = 7x-2 then g(-1) = C -7
D.-9
Al
3 The point (-4,-5) lies in .......... quadrant g III”
D. IV
Al
4 Point (-3,4) lies in the quadrant. CB; IIIII
D. IV
A9
_ _ B. 11
5 If g(x) = x"2 -3 then g (4) = C 13
D. 10
A2
i = = B.4
6 if g (x) =x"2 -3 then g (-3) = C. 6
D.8
A. 10
7 I f(x) = 2x -1 then f (7) B
D. 15
A0
_ _ B. 1
8 If f(x) =2 x-1 then f (1) = C 2
D.3
A2
. B.3
9 How many types of function ? C 4
D.5
A. Injective
- B. Surjective
10 Question Image | C o
D. Periodic
A. Not a function
; B. onto function
1 Question Image | C. Into function
D. One -one function
A x
12 Ordered pair is written as. B.y
C. (xy)
D. (v.X)
A Absg:issa
13 In coordinates (x,y), y is known as g (Igi:'(iltn:Iteem ent
D. Second element
A. Abscissa
B. Ordinate
14 In coordinates (xy), xis known as C. Firs element
D. second element
A 2
15 Each ordered pair consists of................ coordinates. g 3
D.5






